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Geography Model Test Questions 12 in English With Answers

The following state in India is the main wheat producing state.

(A) Tamil Nadu (B) Kerala  (C) Punjab (D) Jammu & Kashmir

India’s largest state in area is

(A) Maharashtra (B) Jammu & Kashmir

(C) Uttar Pradesh (D) Madhya Pradesh

The north pole is always in the light

(A) From September 23 to March 21 (B) From March 21 to September 23
(C) From June 21 to December 22 (D) On June 21

Name the largest river in South India

(A) Godavari (B) Krishna (C) Cauvery (D) Mahanadi
The region which receives rainfall in winter is

(A) Kerala (B) Mumbai (C) West Bengal (D) Tamil Nadu
The longest desert is

(A) Alps (B) Sahara (C) Terrain (D) Thar

“Blue Revolution” is associated with

(A) Rearing of cattle (B) Growing food crops

(C) Producing more milk (D) Fish farming

The literacy rate according to 1991 census in India was

(A) 43.56 percent (B) 52.11 percent  (C) 51.22 percent (D) 52.32 percent
Indian local time is based on

(A) 80°E longitude (B) 80° 30’E longitude

(C) 80°E longitude (D) 80°30°N longitude

The mango showers occur during the season of

(A) Winter  (B) Summer (C) South —west monsoon (D) North — east monsoon

Where among the following states alluvial soil is found in great extent?
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(A) Maharashtra (B) Karnataka (C) Punjab (D) None of these
Which one of the following soil has high retentivity of moisture?

(A) Regur solil (B) Sandy soil (C) Alluvial soil (D) Desert soil
Which one of the following rivers is changing its courses frequently?

(A) Damodar (B) Godavari (C) Kosi (D) Krishna

The wheat granary of India is

(A) Punjab (B) Uttar Pradesh (C) Madhya Pradesh (D) Bihar
Which of the following regions is densely populated?

(A) Gangetic plain (B) Deccan plateau

(C) Brahmaputra Valley (D) Eastern Ghats

The planned city of India is

(A) Mumbai (B) Kolkata (C) Chandigarh (D) Chennai
Which one of the following is an artificial harbor?

(A) Chennai (B) Kolkata (C) Kandla (D) Cochin

Find the descending order of the following states on the basis of their population:
(A) Kerala, Bihar, Mizoram, Tripura (B) Bihar, Kerala, Tripura, Mizoram
(C) Tripura, Kerala, Bihar, Mizoram (D) Mizoram, Bihar, Kerala, Tripura
Largest producing state of Uranium in our country is

(A) Rajasthan (B) Bihar (C) Kerala (D) Uttar Pradesh

Find the incorrectly matched pair:

Place Mining
(A) Kodarma - Mica mining
(B) Raniganj - Coal mining
(C) Panna - Diamond mining
(D) Kolar - Bauxite mining

Find the descending order of the following states on the basis of their state:
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(A) Orissa, Madhya Pradesh, Sikkim, Rajasthan

(B) Rajasthan, Sikkim, Madhya Pradesh, Orissa

(C) Madhya Pradesh, Rajasthan, Orissa, Sikkim

(D) Sikkim, Orissa, Rajasthan, Madhya Pradesh
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22. Match list-1 with list-11 correctly and select your answer using the codes given below:

List-1

(Iron & Steel Plant)

(a) Rourkela

(b) Bhilai

(c) Durgapur

(d) Visakhapatnam

Codes:

a b
(A) 4 3
B) 3 4
© 1 4
(D) 2 1

N PN

4

List-11
(Collaboration)

1. Soviet Union
2. Germany

3. Indigenous
4. UK

o

w w N

23. Find the correctly matched pair:

River
(A) Godavari
(B) Ganga
(C) Indus

(D) Cauvery

Tributary
Beas
Wardha
Damodar

Amaravati

24, Find the incorrectly matched pair:

State

(A) Jammu & Kashmir

(B) West Bengal

(C) Kerala
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Loading produces of
- Saffron
- Jute

- Spices
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(D) Maharashtra - Pepper

25.  Find the correctly matched pair:

River Dam
(A) Mahanadi - Hirakud
(B) Beas - Nagarjun Sagar
(C) Damodar - Pong
(D) Krishna - Maithon

26.  Find the incorrectly matched pair:

State Loading produces of
(A) Tamil Nadu - Wheat
(B) West Bengal - Rice
(C) Karnataka - Coffee
(D) Assam - Tea

27. At present India has
(A) 22 States and 8 Union Territories (B) 21 States and 10 Union Territories
(C) 28 States and 7 Union Territories (D) 20 States and 9 Union Territories

28.  Which of the following pairs is not correctly matched?

(A) Elephant sanctuary - Periyar (Kerala)
(B) Tiger Sanctuary - Manas (Assam)
(C) Bird Sanctuary - Ghana (Rajasthan)

(D) Wild - Life sanctuary - Bandipur (Karnataka)
29.  Which city is known as Gateway of India?
(A) Delhi (B) Mumbai (C) Kolkata (D) Agra
30.  The largest produces of cashewnut in the country is
(A) Kerala  (B) Karnataka (C) Andhra Pradesh (D) Tamil Nadu

31.  Which of the following states gets the highest annual rainfall?
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(A) Himachal Pradesh (B) Jammu & Kashmir

(C) Meghalaya (D) Maharashtra

The 760 km long Konkan Railway passes through some of the following states:

I. Maharashtra Il. Karnataka I11. Kerala IV. Goa V.Gujarat
Choose the correct code:

(A) 1, 11, 1l and IV (B) I, Il and IV

©) LI, 1Vand V (D) I, 1, I, 1V and V

Earth completes one rotation on its axis in

(A) 23 hours and 30 minutes (B) 23 hours and 56 minutes 4.9 seconds

(C) 24 hours (D) 24 hours and 1 minute and 10 seconds
Which of the following is suitable for growing cotton?

(A) Sandy soil (B) Clay soil (C) Black soil (D) Red soil
Which of the following planets orbits around the sun in a clockwise direction east to west?
(A) Earth (B) Jupiter (C) Mercury (D) Uranus
Mangrove vegetation in India is most extensive in

(A) Chambal valley (B) Malabar coast  (C) Sunderbans (D) Kulu valley
Chhotanagpur plateau is called the heart of Industrial India because it is

(A) Near major Iron and steel centres

(B) Very fertile foe industrial crops

(C) Rich in mineral and power resources

(D) Hub of Road and Railway

The largest tea producing state in India is

(A) Kerala (B) Karnataka (C) Assam (D) West Bengal
Which among the following states depends primarily on Thermal power?

(A) West Bengal (B) Karnataka (C) Tamil Nadu (D) Kerala

India has the maximum amount of foreign trade with
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(A) USA (B) China (C) Japan
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(D) Germany

Match list-1 with list-11 correctly and select your answer using the codes given below:

List-I List-11
(a) Dolphin Nose 1. Mumbai
(b) Diamond 2. Cochin
(c) Naval Training Centre 3. Kolkata
(d) Gateway of India 4. Visakhapatnam
Codes:
a b C d
A 3 2 4 1
(B) 4 3 2 1
< 4 1 2 3

(D) 2 3 1 4

The Eastern Ghats join the Western Ghats at

(A) Palani Hills (B) Nilgiris Hills (C) Anaimudi
Female literacy rate is highest in

(A) Kerala (B) Andhra Pradesh (C) Bihar
About 85 percent of India’s raw silk is produced in

(A) Assam (B) Andhra Pradesh  (C) Karnataka
The largest produces of sugar in the world is

(A) USA (B) Cuba (C) Russia
What is India’s world rank in Population

(A) First (B) Second (C) Third
The biggest sugarcane producing country in the world is
(A) Brazil (B) Java (C) Cuba
Which is the least populated state in the Indian Union?
(A) Goa (B) Sikkim (C) Mizoram

The maximum power production in India comes from
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(D) Shervaroy Hills

(D) Manipur

(D) Tamil Nadu

(D) India

(D) Fourth

(D) Mauritius

(D) Arunachal Pradesh
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(A) Thermal plants (B) Solar energy
(C) Nuclear energy (D) Hydroelectric power

50. Hindustan Organic Chemicals Limited (HOCL) is located at

www.winmeen.com

(A) Alwaye (B) Vadodara (C) Rasayani (D) Mangalore

51.  The biggest oil refinery is located at

(A) Nunmati (B) Barauni (C) Koyali (D) Mathura

52.  Fresh water fishing is extensive in this state of India:

(A) Kerala (B) West Bengal (C) Tamil Nadu (D) Andhra Pradesh

53. Rajasthan canal, the largest irrigation canal in the world is also known as
(A) Nangal canal (B) Indira Gandhi canal
(C) Garland canal (D) Rihand canal

54.  The man-made lake Gobind Sagar is located in which state of India?

(A) Himachal Pradesh (B) Punjab (C) Orissa (D) Andhra Pradesh

55.  Which of the following pairs is not correctly matched?
(A) Calcutta - Tidal port
(B) Cochin - Natural harbor
(C) Kandla - Riverine port
(D) Chennai - Artificial harbor

56. Identify the wrongly matched pair:

(A) Peat - Coal
(B) Chilka Lake - Orissa
(C) Krishna - Indravati

(D) Pulicat Lake - Kerala
57.  The Mica belt of India, which yields the major part of it, is located in
(A) Andhra Pradesh (B) Bihar (C) Orissa (D) West Bengal

58.  Thottabetta is the highest peak of
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(A) Anamalai (B) Nilgiri hills (C) Servarayan hills (D) Yelagiri
The rivers flowing into Arabian sea do not form deltas because

(A) They do not have large tributaries

(B) They form shallow valleys

(C) They are deficient in sediments

(D) They follow a short swift course down a steep slope

Alluvial soils are found in all the following states of India, except

(A) Kerala (B) Gujarat (C) Orissa (D) Maharashtra
Korba Thermal Power Station is located in this state of India

(A) Karnataka (B) Bihar (C) Madhya Pradesh (D) Uttar Pradesh
As a result of the “Green Revolution” production of which crop has increased considerably?
(A) Rice (B) Cotton (C) Wheat (D) Maize

The Desert Afforestation and Research station has been setup at

(A) Dehradun (B) Jodhpur (C) Jaisalmar (D) Narora

Which of the following states has a border with Pakistan?

(A) Uttar Pradesh (B) Punjab (C) Haryana (D) Himachal Pradesh
Cellulosic materials are the main sources for

(A) Paper Industry (B) Jute Industry

(C) Fertilizer Industry (D) Chemical Industry

The River basin which is called Ruhr of India is

(A) Damodar river basin (B) Hoogly river basin

(C) Mahanadhi river basin (D) Swarnarekha river basin

Which state leads in production of minerals in terms of value?

(A) Orissa  (B) Gujarat  (C) Madhya Pradesh (D) Rajasthan

Which of the following states receives the highest rainfall during winter season?

(A) Punjab  (B) Kerala  (C) Tamil Nadu (D) Meghalaya
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The first Nuclear power station in India was commissioned in

(A) Gujarat  (B) Rajasthan (C) Maharashtra (D) Uttar Pradesh
Consider the following statements:

Assertion (A): Assam is noted for tea cultivation.

Reason (R):  Assam is rich in alluvial soil

Of the statements:

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Which of the following cities lie on the Delhi-Mumbai National Highway?
(A) Indore (B) Jhansi (C) Jaipur (D) Nasik
Paradeep and Kandla ports of India are situated in

(A) East and West coast respectively (B) West and East coast respectively
(C) East coast (D) West coast

Which of the following groups of States takes benefit from Tungabhadra project?
(A) Punjab and Haryana (B) Karnataka and Maharashtra

(C) Andhra and Maharashtra (D) Andhra and Karnataka

Identify the correctly matched pair?

(A) Koyali - Assam

(B) Digbai - West Bengal

(C) Barauni - Bihar

(D) Haldia - Guijarat

The present number of districts in Tamil Nadu?

(A) 21 (B) 22 (C) 23 (D) 29

NOTE: Now 32
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Which is the commonest of metal in the earth crust?

(A) Copper (B) Nickel (C) Aluminium (D) Iron
Where is National chemical laboratory situated?

(A) Mumbai (B) Pune (C) Hydrebad (D) Dehradun
Which is the India’s largest lake?

(A) Nainital (B) Sambhar (C) Sishram (D) Chilka
Which Indian states have their borders touching Pakisthan?

(A) Punjab and Gujarat (B) J&K, Punjab and Gujarat

(C) Punjab, Rajasthan and Gujarat (D) J&K, Punjab, Rajasthan and Gujarat
India is the largest producer of which of the following spices?

I. Black pepper [1. Cardamon I11. Cloves IV. Ginger
Choose the answer from the codes given below:

(A) I and 111 (B) Il and 111 (©) 1, 11 and IV (D) Il and IV
Kandla port is located in

(A) Andhra Pradesh (B) Maharashtra (C) Gujarat (D) Kerala
‘Blue Revolution’ is connected with

(A) Agriculture (B) Fishing (C) Irrigation (D) Iron and Steel
Which is India’s most urbanized state?

(A) Kerala (B) Karnataka (C) Maharashtra (D) Punjab
Where was the first fertilizer plant in the public sector set up?

(A) Neyveli (B) Sindri (C) Cochin (D) Trombay

Match list-1 with list-11 correctly and select your answer using the codes given below:

List-1 List-11
(a) Maharashtra 1. Alluvial soil
(b) Karnataka 2. Laterite soil
(c) Uttar Pradesh 3. Red soil
(d) Assam 4. Black soil
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Codes:

a b C d
(A 1 2 3 4
(B) 4 3 2 1
(C) 4 3 1 2
(D) 3 4 2 1

86.  The highest rainfall in India is received at

(A) Calcutta (B) Cherra Punji  (C) Mumbai (D) Thiruvananthapuram
87.  Which of the following is a rift valley

(A) Cauvery (B) Godavari (C) Kosi (D) Naramada
88.  Earth’s equatorial diameter is

(A) 22,756 kms. (B) 12,756 kms. (C) 40,000 kms. (D) 22,776 kms.

89.  The important latitude that is passing through the middle part of India is

(A) Equator (B) Tropic of cancer (C) Tropic of Capricorn (D) None of these
90.  Which of the following coastal regions of the states receives maximum rainfall during winter
months?
(A) Andhra Pradesh (B) Gujarat (C) Karnataka (D) Tamil Nadu
91. Indian soils are generally deficient in
(A) Manganese (B) Calcium (C) Nitrogen (D) Iron

92.  The Bokaro Steel Plant was setup with the aid and collaboration of

(A) Germany (B) Britain (C) USA (D) Russia
93.  Aluminum ore is known as

(A) Lignite (B) Bauxite (C) Bituminous (D) Pyrite
94.  Among the following the most urbanized community in India is

(A) Muslim (B) Hindu (C) Parsi (D) Guijarat
95.  Which is known as ‘Pink City’?

(A) Jaipur (B) Jodhpur (C) Gwalior (D) New Delhi
96. Gypsum is found in
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(A) Rajasthan (B) Bihar

97.  Percentage of forest area in Tamil Nadu is
(A) 10% (B) 15%

98.  “The city of Golden Temple” is

(A) Amritsar (B) Thanjavur
99. “Durand Cup” is associated with
(A) Hockey (B) Baskethall

100. The National Chemical Laboratories is at

(A) Mumbai (B) Pune
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(C) Gujarat

(C) 17%

(C) Jaipur

(C) Football

(C) Goa
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(D) Madhya Pradesh

(D) 18%

(D) Haryana

(D) Cricket

(D) Delhi
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